MATHS PAPER 2007 ENTRY —

No half marks — answers either right or wrong
1 643 ' I mark
2 342 - 1 mark
3 45 ; 1 mark
4 165 - I mark
5 630z I mark
6 & minutes I mark
7 C (Rhombus, Diamond) I mark
g £85.20 I mark
9 £11.40 1 mark
10 (a} 14 1 mark
(b) 16 1 mark
(c) 100 I mark b
11 (a) 20 1 mark
—®) |17 | mark
(c) 36 1 mark
12 11 years 5 months 2 marks
13 T 2 marks
14 81m’ 2 marks
15 Fail 1 mark
16 3+4-8+2=I lmark
17 A (] mark) 1 mark
3 pence per pot (1 mark) 1 mark
18 0.31 2 marks
19 A =12 (1 mark) 1 mark
B =24 (1 mark) 1 mark
20 56 minutes 2 marks
21 1.16 2 marks
22 6 2 marks
23 115" 2 marks
24 (a) 8 cubes 1 mark
: (b) 20cm’ 1 mark
(c) 22 cubes 1 mark
(d) 420¢g 2 marks
25 (a) C= 10 1 mark
25 (b) C=-15 2 marks
TOTAL MARKS 45 MARKS




